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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘J’ can
be represented by 42, 87, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have to identify the set for the word “JECT”.

T Aeq hadl Th FEAT-HAE SR G W7 &, Star 6 fawedt # 4
ot T & fem s ¥ faweut i BU v raraes IER & ar gt
SRT g arw §, Sk 5 Bu 1w of sneggt A ¥ Inegsl & waws 3R
Gfeh & @A 0 & 4 ¥ IR I H 5 F 91 3T PP d TH IR
@ ugt sud ufs IR A A T @EAr grr giar S @dar
3Rl & fw 0 @ 42, 87 3nfE arr gAlaT S wear ¥ aUr ‘N' @ 04,
89, 3fg grT gfar oM Twar ¥ W axe @ UN uw F RU g
“JECT” & fow @ag & ugaiaan &

Matrix-I Matrix-li
Il Il
011234 5|16(7(8]9
O|A|E|[T|S|N S5|1Z|G(W(I]|Q
1{L{M]I[C]I 6(YIM[B|T|A
2|U|E[S|V([X TTL|QZIY|D
3|D|G|W|L|R 8|F|E[J|T|N
4|0|K([J|C|Z 9(U| I [Y]|V]X

Options:
1) 42, 01, 88, 21

2)87,21,02,02
3) 42, 86, 13, 68

4) 23,21, 43, 88
Correct Answer: 42, 86, 13, 68
Candidate Answer: 42, 86, 13, 68
QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3R At F ¥ 3@ I HgA F AT
Sra & oy ampfa R

/0 |

Download More Paper®From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:
1)

2)

A

\l/

3)

4)

Correct Answer:

\l/

Candidate Answer:

QID:5-

Which answer figure will complete the pattern in the
question figure?

Ha W 3 FFA UH APl & uflawT & qu
FHLN?

ZIN\
2/
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Options:

N

2)

3)

4)

Correct Answer:

N\

Candidate Answer:

N\

QID:6-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE 1 T T AB YT W I@ ST, a &
IR APAAT A T i W Hpa o gl Hr
e ufafasa gefr?

Jv

Al

A
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Options:
1)

Correct Answer:
YL
1A
Candidate Answer:
YL
1A

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

= F Uy agladl A QW HGER FOT @
Az Ve JUT Weld & ag I 5T 3R e
s e &em?

JEIe
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Options:
1)

2

3

4

L B e] =

Correct Answer:

]

Candidate Answer:

Papers From GovtJobsAlert.In

QID : 8 - By interchanging which two signs the equation will be correct?

6:+11+87%x3-6=89
TRt & et Y 3T 7 TRER Feoled T THIHOT TEY &Y SATTam?

6+11+87x3-6=89
Options:

1) +and +

+dAar +

2) + and -

+ dUr -

3) x and +

X TqAgT +

4)-and +

—dar +

Correct Answer: x and +
X TAqr +

Candidate Answer: x and +
X TqAqr +

QID:9-If7@3@1=317and9@ 0 @ 2 = 029, then
5@2@0="?
IE7@3@1=317T9@0@2=029¢g,dr

5@2@0=">
Options:

1) 205

2) 502

3)25

4) 52

Correct Answer: 205
Candidate Answer: 205
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QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Apple

2. Apply
3. Application
4. Arctic
5. Arabic

TeFAaTEe Qreal T Qreeehier # 3T ATel el & TaR ford|

1. Apple

2. Apply
3. Application
4, Arctic
5. Arabic

Options:
1) 23154
2) 21354
3) 12354
4) 13254

Correct Answer: 13254
Candidate Answer: 13254

QID : 11 - In the following question, select the missing number from the given series.
0, 3,8,15,24,?
TerAfafed weat & U a1v fashedl & § e 37 AT HIioiv|

0,3,8,15,24,?
Options:

1)37

2) 35

3)34

4) 36
Correct Answer: 35
Candidate Answer: 35

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AD, BE, CF, DG, ?
Teh 31eTehe T 91T B, TS & weh ue ofed 81 QU a1v fashodt A & @ Wl faehod YA, Sif 3egsha O |

AD, BE, CF, DG, ?
Options:

1) EH

2)E]

3) DH

4) FI
Correct Answer: EH
Candidate Answer: EH

QID : 13 - In the following question, select the odd word from the given alternatives.

Trafe e woaf & T 91¢ fashedt & & fawa usg ¥ 9T
Options:

1) wall

LR

2) Roof

ad

3) Window

Ragehr

4) Floor

weT

Correct Answer: Window
[ECEED]

Candidate Answer: Wall

CACIy

QID : 14 - In the following question, select the odd number pair from the given alternatives.
TerAfated weat & fev 1w fashedt & favws @&z Z7a I giv|
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Options:

1)22-28

2)13-19

3)15-20

4)20-26

Correct Answer: 15 - 20
Candidate Answer: 15 - 20

QID : 15 - In the following question, select the odd letters from the given alternatives.

TF=ATe e weat # 74U 1T fashoutl & & fawer 37&RT &I giav|

Options:
1) zX

2) DC
3)RQ

4) ML
Correct Answer: ZX
Candidate Answer: ZX

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Engineer, Male, Clerk

qE ING AT S oA R0 91w geif & iy & Faer & agr Hwor e g

e, 7o, AT
Options:

1)

2)

3

jesiiies

®

Correct Answer:

&

Candidate Answer:

&

QID : 17 - In the following question, select the related word from the given alternatives.
Knife : Cut:: Tape: ?

Rrafaf@d weat # T 1w fakedl & & Haftra e &1 giav)

g : FEAT: 1391 2
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Options:
l)pBreak
GlEcl
2) Join
Sirgar
3) Quiet
ond
4) High
Sar
Correct Answer: Join

SiISed

Candidate Answer: Join

Silsed

QID : 18 - In the following question, select the related number from the given alternatives.
7:64::9:?

TerAfated woat & fev 1w fashedl & Heiftrd Tear &1 giav)
7:64::9:?

Options:

1) 100

2) 108

3) 121

4) 144
Correct Answer: 100
Candidate Answer: 100

QID : 19 - In the following question, select the related letters from the given alternatives.
RAINY : YNIAR: : WINTER : ?

TerAfated weat # fou a1v fashout # & Heftrd 3R 1 giav|

RAINY : YNIAR: : WINTER : ?

Options:

1) RETNIW

2) RETINW

3) RETWIN

4) RTENIW
Correct Answer: RETNIW
Candidate Answer: RETNIW

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
LEGENDARY

TerAfaTed fashedl & & g e giaT ST &V 1T 2req & 3R T TIIT e 76T ST S HehelT |

LEGENDARY

Options:

1) RAID

2) LAND

3) GENE

4) RAY
Correct Answer: RAID
Candidate Answer: RAID

QID: 21 - P is 2 metres west of Q. R is 2 metres north of Q. S is 4 metres east of R. T is 6 metres south of S. In which direction is T from P?

PQA2AMTIRTAAGIR, QA2 AR FcR ALIS, RE4HI@HEI T, ST 6 A Bor 7¢I T, P& forw Gar 7 2
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Options:

1) North-West

ScR-afeaH

2) North-East

Seck-qd

3) South-East

gfaoT-qa

4) South-West

CAGIRIRE:

Correct Answer: South-East
ARG

Candidate Answer: South-East

gfaror-qa

QID : 22 - A is brother of B. C is sister of B.D is father of B. E is wife of D. How is B related of E?

A, B&H o$ €1 C, B 95T §1 D, B &1 ar &1 E, D &1 gcall &1 B, E & oy YR TaifreT &2
Options:

1) Son

™

2) Daughter

EEl

3) Father

Ryar

4) Cannot be determined

AT FET AT ST ARl

Correct Answer: Cannot be determined
AT AGT TR ST Tl

Candidate Answer: Cannot be determined
AT AT AT ST FehelT

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. No circle is square.
II. Some squares are rectangles.

Conclusions:
1. Some circles are rectangles.
II. No circle is rectangle.

A T 1T e A Fo HYUA 3R 3eAh e 37 HUA W IR o5 sy v 10 §, grelifeh 37087 Gty +A1et aedll & Beaa gf @heh §1 T sy ud 31k e
i ¥ 5 T a1v #ley & vy, v 1w et & 3muR W iFaaera &l

Y
L &1 qed, 991 7T &1
I1. % &9, 3 §

frsay:

L. $& ged, 3194 €1

I F1$ Jed, 3T 8T 81

Options:

1) Only conclusion (I) follows.

Fad fassy (1) T &

2) Only conclusion (II) follows.

g forsay (I1) Ter gl

3) Both conclusion follow.

At & fasy T €

4) Neither conclusion (I) nor conclusion (II) follows.

 ar fasewy (1) 1 & fasey (1) Tér &1

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
 ar SRy (1) 1 & sy (1) Tér &1

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

o ar sy (1) 7 & s (11) = 21

QID : 24 - In a certain code language, "PARDON" is written as "QCUEQQ". How is "SANDAL" written in that code language?

% faferse g #r9r A, "PARDON" &7 "QCUEQQ" for@r ST & 54 i3 #1947 & "SANDAL" &l fohy YRR fora@r Sreem?
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Options:
1) TCQECO

2) QCSDCO
3) OQBXRV

4) HZMWZ0
Correct Answer: TCQECO
Candidate Answer: TCQECO

QID : 25 - In a certain code language, "TEAR" is written as "40" and "TIFF" is written as "37". How is "FIRE" written in that code language?

s faflIse Fs s79r 7, "TEAR" &1 "40" T2T "TIFF" I "37" for@r S1ar §1 39 s 919 & "FIRE" F1 fha yR forar smeam?

Options:
1) 36

2) 30
3)33

4) 34
Correct Answer: 34
Candidate Answer: 34

QID : 26 - Rahul is 4 years younger than his elder brother Shyam. Rahul also has a sister who is 3 years younger to him. What is the difference between the age of
Rahul and the average age of the three siblings?

r@ﬂmﬁm?wﬂ4mm%| r@ﬂﬁmmsﬂ%,sﬁm3mm%| T@H@rm&ﬂwmﬂﬁ-mﬁm%mmwp
Options:

1) 6 months

6 T

2) 4 months

4 7N

3) 2 months

2 T

4) 8 months

8 T

Correct Answer: 4 months

4 AT

Candidate Answer: 4 months

4 7

QID : 27 - Reshama bought a showpiece for Rs 629 with a discount of 15% on the marked price. Find the marked price of the showpiece.

LAT o Toh A I 3ifhc Hed TR 15% T §e & 18 629 T H TCT| M 91F &1 3ifhd HoT gamd|
Options:

1) Rs 740

740 %

2) Rs 820

820%

3) Rs 840

840 %

4) Rs 880

880 %

Correct Answer: Rs 740
740 %

Candidate Answer: Rs 740
740 ®

QID : 28 - A does a work in 20 days and B does the same work in 30 days. In how many days they together will do the same work?

A T FHTH T 20 AT H e § 3R B 38 &1\ By 30 el 7 qur e 81 QN fAerent 3¢ s oy foheter feat & g vy ol
Options:

1) 10 days

10 feet

2) 16 days

16 o=t

3) 12 days

12 fear

4) 14 days

14 &=t

Correct Answer: 12 days

12 e
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Candidate Answer: 12 days

12 =

QID : 29 - A vendor offers 18% discount on a computer table with a marked price of Rs 6400. If he still earns a profit of Rs 800, what is the cost price of the table?

T skl 6400 T 3ifehe Hedr aTel Teh HFTged Tael W 18% e &l ¢l 3PN T 8ff ag 800 T T AT FATCT 8, ot Tl T h 7 Fed T 62
Options:

1) Rs 5600

5600 T

2) Rs 5618

5618

3) Rs 4448

4448 T

4) Rs 4940

4940

Correct Answer: Rs 4448
4448 %

Candidate Answer: Rs 4448
4448 T

QID : 30 - If a principal amount becomes Rs 2,07,360 in 4 years with a compound interest rate of 20% per annum, then what is the value of principal amount?

AT FIS FAUT 4 AV 7 20% ATF THGRG SATST T & § 2,07,360 ¥ 87 ST &, ol FeTLIeT T AT FT GIam?
Options:

1) Rs 111000

111000 ¥

2) Rs 110000

110000 ¥

3) Rs 120000

120000 ¥

4) Rs 100000

100000 ¥

Correct Answer: Rs 100000
100000 ¥

Candidate Answer: Rs 110000
110000 ¥

QID : 31 - The total surface area of a cube is 864 cm2. What is the volume of this cube?

U O] T HFYUT 56 ATTHS 864 F2 §| SH O T 31T 4T 82
Options:

1) 1728 cm3

1728 &3

2) 1628 cm3

1628 &3

3) 1528 cm3

1528 &3

4) 1828 cm3

1828 &3

Correct Answer: 1728 cm3

1728 &3

Candidate Answer: 1728 cm3

1728 &3

QID : 32 - The smallest 3-digit prime number is .

3 3l T Fad BIEY AT TE&AT gl

Options:

1) 103

2) 107

3) 109

4) 101

Correct Answer: 101
Candidate Answer: 101

QID : 33 - An insurance company pays Rs 3,24,000 after a new car worth Rs 4,50,000 gets completely damaged in an accident. How much percent of the car is
insured?

T AT HEGAT 4,50,000 T Hed T Teh 78 HR & GEeaT # U oE I &TcTarEd 81 Sl & HROT 3,24,000 & T AT TR 7 71l el §1 R Fohetalt wfereray A &2
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2) 82%
3) 76%
4) 78%
Correct Answer: 72%
Candidate Answer: 72%

QID : 34 - A cloth seller sells 50% of his particular stock for a particular item and recovers the cost price. What will be his profit percentage after selling the
complete stock, if he continues to sell rest of his stock at the same price?

Teh ST farshell T3 & 3= el @ TEieh T 50% SR 37T 5 Hed ISl Sl §| 3R T S §U Teheh 1 38 Hed T So0AT ST Gl §, A1 0 Theh T &
qTE; 3HHT TS TTereret &rm grem?

Options:

1) 100%

2) 50%

3) 200%

4) 150%

Correct Answer: 100%

Candidate Answer: 50%

QID : 35 - The monthly salaries of A and B are in the ratio 6:7. If both of them get a salary increment of Rs 5000 per month, the new ratio becomes 7:8. What is
the new monthly salary of A?

A TUT B & HATAh Acfll T T 6:7 &1 TR et T 5000 T & AT Acfol g fAercl &, A 72T 37q0rer 7:8 &Y ST &1 A T 12T AT A Acfel 7T 872
Options:

1) Rs 30000

30000 &

2) Rs 32000

32000 &

3) Rs 35000

35000 &

4) Rs 40000

40000 &

Correct Answer: Rs 35000
35000 &

Candidate Answer: Rs 35000
35000 %

QID : 36 - A truck covers a distance of 1800 km in 40 hours. What is the average speed of the truck?

T g 1800 fRaft. T gt 40 ¢ F U FAr §1 g Y 3w afd = B2
Options:

1) 45 km/hr

45 R, /ger

2) 40 km/hr

40 TR, /ger

3) 60 km/hr

60 foraY./geT

4) 50 km/hr

50 foreT. /e

Correct Answer: 45 km/hr
45 e, [eier

Candidate Answer: 45 km/hr
45 fal. feer

QID : 37 - A number when divided by 18 leaves a remainder 9. When the square of the number is divided by 9 the remainder is

T TEIT A 18 T T Fet T 9 AT I &1 ST 37 T&AT o J971 bl 9 A e fhar Srar g, at dwher _ &1
Options:

1)1

2)2

3)3

4)0

Correct Answer: 0

Candidate Answer: 0

QID : 38 - What is the unit's place digit in the product (654 x 313 x 411 x 734)?

3T (654 X 313 x 411 x 734) # SHIS 37k FAT §?

Options:
1)1
2)4
3)8
4)2
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Correct Answer: 8
Candidate Answer: 8

QID : 39 - The sum of 13 consecutive integers is 13. What is the lowest integer?

13 TRTAR quiteh HEATHT &1 AT 13 §1 T ST qUiteh HE&AT 4T 87

Options:
1) -4

4) -3
Correct Answer: -5
Candidate Answer: -5

QID : 40 - Mohan and Sohan walk at average speed of 1 km/hr and 1.5 km/hr respectively. If Mohan walks in South direction and Sohan in East direction beginning
from the same origin at the same time, what will be the distance between the two after 6 hours?

AT T AgeT shAsr:1 fehafy/der AR 1.5 fhei/erer Fr Aad 7 & g §1 3R FgeT STaror A fem # iR Hger 93 ¥ ferm 7 v & [6g & veh & qa7g & Tofarr
HRFH A &, Al 6 ¢ T16 Al & Jra T g3r 7 grefr?
Options:

1) 3v13 km

3V13 .

2) V39 km

V39 fReT.

3) V10 km

V10 fReT.

4) V127 km

V127 .

Correct Answer: 3V13 km
3V13 fRa.

Candidate Answer: v/39 km
V39 fa.

QID : 41 - What least number must be added to 2530 so that the sum is completely divisible by 27?

2530 # HH § HH e Heam Shsal AR arfs e At 27 & ot faenmsa ar sme?
Options:

1)8

2) 26

3) 10

4) 12

Correct Answer: 8

Candidate Answer: 10

QID : 42 - Rajiv's salary was reduced by 20% in a year and subsequently increased by 30% the following year. What is the overall percentage change over the
original salary?

ST & Akt H Teh a9 20% 1 FA1 §§ AR 3HD 39T I 30% Y G g1 36 HeF AcfeA A ey wfreret 1 goreh aRactT g3m?
Options:

1) 24%

2) 4%

3) 10%

4) 6%

Correct Answer: 4%

Candidate Answer: 4%

QID : 43 - A fruit vendor buys a dozen coconut for Rs 480. What should be per pair price so that he can earn 20 percent profit?

TS el Tashell U Gotel AT 480 & 7 TAGAT &1 39 9T Sis AT &7 faehar Hod 37 T A6 T difeh a6 20 FTerd are T 9ah?
Options:

1) Rs 48

48%

2) Rs 92

92%3%

3) Rs 96

9% %

4) Rs 94

943

Correct Answer: Rs 96
9% %
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Candidate Answer: Rs 48
48%

QID : 44 - X can do a piece of work in 40 hours. He works at it for 8 hours and then Y finishes the work in 16 hours. How long will they together take to complete
the work?

X Ueh 1A &Y 40 6 H T Fhll §1 X % 8 6 HH Flel % 916 Y 38 H1H HI 16 6 H QU T | Slell AT AR 39 H1H &l fhctat 6 & g1 e
Options:

1) 15 hrs

15 8¢

2) 20 hrs

208

3) 13% hrs

13 8¢

4) 12 hrs

128

Correct Answer: 13' hrs
13% 8¢

Candidate Answer: 13 hrs
13 g¢

QID : 45 - How many whole numbers are there between 34 and 242 which are exactly divisible by 6?

343X 242 & T 6 & 0 e U 9o giet arelr qut WA el 87
Options:

1) 35

2) 36

3)37

4) 38

Correct Answer: 35

Candidate Answer: 35

QID : 46 - If Rs 2574 is divided in the ratio of 3:8:10:12 among A, B, C and D respectively, what will be the share of D?

T 2574 T & A, B, C T D & 1y 3:8:10:12 & 3Heurel # TAATTIcT oham STl 8, & D shr $11eT 317 glam?
Options:

1) Rs 966

966 &

2) Rs 936

936 %

3) Rs 933

933%

4) Rs 999

999 &

Correct Answer: Rs 936
936 %

Candidate Answer: Rs 936
936 T
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A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

s HAglidearer faffled Widl § Fer 180 FR5 & T Frelrar
T Ferar 81 fefaf@d gea #1 3R 91 9 A giv v
affie Tfer I1al & feat & Gafeia 3ast & 3ER W) &

¥ Tution Fee/Y2AT HI

® Consultancy Projects/@dccal Fiotec
" Research Activities/2iTer arfafaferat

® Endowments/3eIgTel

¥ Government Aids/TRT TERIAT

What is the amount of fund collected through Consultancy Projects and Research Activities together?

e AR 3R et s & T el TRy Sers e
Options:

1) Rs 20 Crore

20 ST

2) Rs 30 Crore

303 F

3) Rs 36 Crore

36 U3 &

4) Rs 27 Crore

27 T T

Correct Answer: Rs 36 Crore

36T T

Candidate Answer: Rs 36 Crore

36T T
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A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

s HAglidearer faffled Widl § Fer 180 FR5 & T Frelrar
e Serar &1 Frafaf@a gea #1sw u @ A g@@ie v
fafeies Tfer At & Beal § Fafda 3ast & 3R | 2

¥ Tution Fee/Y2AT B

® Consultancy Projects/@dccal Fiotec
" Research Activities/2iTer arfafaferat

® Endowments/3eIgTel

¥ Government Aids/TRT TERIAT

How much amount is collected from endowments?

FegeT & e IRy et arir?
Options:

1) Rs 36 Crore

36 U3 &

2) Rs 18 Crore

18FITF

3) Rs 30 Crore

303 F

4) Rs 40 Crore

40 FS T

Correct Answer: Rs 36 Crore

36T T

Candidate Answer: Rs 36 Crore

36T T
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A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

s HAglidearer faffled Widl § Fer 180 FR5 & T Frelrar
T Ferar 81 efaf@d gea #1 3R 91 9 A giv v
affie Tfer I1al & feat & §afeia 37ast & 3ER W) &

¥ Tution Fee/Y2AT B

® Consultancy Projects/@dccal Fiotec
" Research Activities/2iTer arfafaferat

® Endowments/3eIgTel

¥ Government Aids/TRT TERIAT

What is the difference between the amount collected from Government Aids and Tution Fee?

TN TEIaT 3R TR B | Uaha 1 9715 TR & i ety &7 3 82
Options:

1) Rs 60 Crore

60 T &

2) Rs 100 Crore

100 F3 &

3) Rs 10 Crore

10T F

4) Rs 36 Crore

36 U3 &

Correct Answer: Rs 36 Crore

36T T

Candidate Answer: Rs 36 Crore

36T T
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A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

s HAglidearer faffled Widl § Fer 180 FR5 & T Frelrar
e Serar &1 Frafaf@a gea #1sw u @ A g@@ie v
fafdteer Tfr War & oAl § Gafag 3asT & 3R | 2

¥ Tution Fee/TYRIT fra

® Consultancy Projects/@dccal Fiotec
" Research Activities/2iTer arfafaferat

® Endowments/3eIgTel

¥ Government Aids/TRERT TERIAT

If one-third of the fund collected from research activites is invested in research development facilities at the college, how much total amount is invested in research
development facilities?

I ever FRaait & wopfaa van fogTs iRy aicrat 31 <iver faeprer i glaenstt & frdrer v St €, o eiver faerar gfaemsit & fraer o afdy o Bder frar e 22
Options:

1) Rs 9 Crore

IIITT

2) Rs 40 Crore

4OFTT

3) Rs 36 Crore

36 ST

4) Rs 24 Crore

24T T

Correct Answer: Rs 9 Crore
IWITT

Candidate Answer: Rs 9 Crore

PETIEES

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The Government should deploy an adequate (1)/ number of security personnel to maintain law or (2)/ order during the next fortnight at the holy place. (3)/ No
error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Aviation is important, both as an industry in its own right and as a facilitator for the (1)/ success and competitiveness of other industries. The success of the
aviation industry (2)/ is also integral to national competition, economic developing and social progress. (3)/ No error (4)
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Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

A lander chief was to her by him.
Options:

1) handing

2) handed

3) hands

4) rand

Correct Answer: handed
Candidate Answer: handed

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The dog was with a stick.
Options:

1) clapped

2) smiled

3) hit

4) curled

Correct Answer: hit

Candidate Answer: clapped

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Perky

Options:

1) Cheerful

2) Depressed

3) Gloomy

4) Quiet

Correct Answer: Cheerful

Candidate Answer: [ NOT ANSWERED ]

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Sordid

Options:

1) Dirty

2) Reputable
3) Good

4) Honorable

Correct Answer: Dirty
Candidate Answer: Honorable

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Tryst
Options:
1) Meeting
2) Abstain
3) Cease
4) Decline

Correct Answer: Meeting
Candidate Answer: Abstain

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Contribute

Options:

1) Provide

2) Take

3) Add

4) Afford

Correct Answer: Take
Candidate Answer: Add
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QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Divulge
Options:
1) Admit
2) Conceal
3) Blab

4) Declare

Correct Answer: Conceal
Candidate Answer: Declare

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Scoff
Options:
1) Contemn
2) Praise
3) Discount
4) Belittle

Correct Answer: Praise
Candidate Answer: Praise

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Add insult to injury

Options:

1) To act in a way that makes a displeasing situation worse
2) Talking behind the curtain

3) Be punished severely

4) To state something very concisely

Correct Answer: To act in a way that makes a displeasing situation worse
Candidate Answer: Be punished severely

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All ears

Options:

1) Listening intently

2) Spending carefully

3) Ignoring purposely

4) Getting irritated

Correct Answer: Listening intently
Candidate Answer: Listening intently

QID : 63 - Improve the bracketed part of the sentence.

Take a ferry or a boat instead of a bus to (reaching) the Kravi islands faster.

Options:

1) reached

2) reach

3) reaches

4) No improvement

Correct Answer: reach
Candidate Answer: reach

QID : 64 - Improve the bracketed part of the sentence.

(On) many of them, politics has intruded into campus life, influencing academic appointments and decisions across levels.

Options:

1) At

2) Inside

3) Over

4) No improvement

Correct Answer: At
Candidate Answer: At

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

The yearly return of a date.
Options:

1) Itinerary

2) Solitary

3) Summary

4) Anniversary

Correct Answer: Anniversary
Candidate Answer: Solitary
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QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Self-rule.
Options:
1) Autonomy
2) Agronomy
3) Acronomy
4) Theonomy

Correct Answer: Autonomy
Candidate Answer: Autonomy

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:

1) Hedmistress
2) Headmistress
3) Headmestress
4) Headmistres

Correct Answer: Headmistress
Candidate Answer: Headmistress

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Billion
2) Bilion

3) Bellion
4) Billeon

Correct Answer: Billion
Candidate Answer: Bellion

QID : 69 - Rearrange the parts of the sentence in correct order.

Greed for natural

P: slavery and colonialism
Q: resources has been

R: the main reason behind

Options:

1) RPQ

2) RQP

3) QRP

4) PQR

Correct Answer: QRP
Candidate Answer: QRP

QID : 70 - Rearrange the parts of the sentence in correct order.

The child’s view

P: should be given due weight
Q: and maturity of the child
R: in accordance with the age

Options:

1) PRQ

2) RQP

3) QRP

4) PQR

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,

many farmers usually take the step of committing suicide.

There are a of reasons
Options:

1) number

2) numerous

3) agenda

4) bouquet

Correct Answer: number
Candidate Answer: numerous
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QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,
many farmers usually take the step of committing suicide.

reasons isthe ______ weather conditions

Options:

1) wonderful

2) erratic

3) soothing

4) amazing

Correct Answer: erratic
Candidate Answer: amazing

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,

many farmers usually take the step of committing suicide.

the farmers are with nothing.
Options:

1) right

2) center

3) left

4) centre

Correct Answer: left

Candidate Answer: centre

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,

many farmers usually take the step of committing suicide.

to fulfill their needs.
Options:

1) political

2) social

3) education

4) financial

Correct Answer: financial
Candidate Answer: education

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,
many farmers usually take the step of committing suicide.

take the step

Options:

1) real

2) nominal

3) crucial

4) unfortunate
Correct Answer: unfortunate
Candidate Answer: real

QID : 76 - The"Atal Pension Yojana" (APS) is a scheme focused on workers in the

37er YU IS (APS) F AP W Fiegd A= 1
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Options:
1)pIndustriaI Sector
e e
2) Financial Sector
EGIRESE]
3) Corporate Sector
HaRe &
4) Unorganised Sector
IS &1
Correct Answer: Unorganised Sector

3TfSd &

Candidate Answer: Industrial Sector

Sitezifoes &

QID : 77 - Which one of the following longitude determines the Indian Standard Time?

FATITET SUTeaR Y@T3AT 7 F HiA-HT IWT HRT FHT FHTOITT THT T Bl 67
Options:

1) 85.50 E

85.50 g

2)86.50E

86.50 9@

3)84.50E

84.50 qg

4)82.50E

82.50 qg

Correct Answer: 82.50 E
82.50qg

candidate Answer: 82.50 E
82.50qg

QID : 78 - What is the unabbreviated form of ICICI?

ITSEIIMSENITS T IATECT T F4T &2

Options:
1) Indian Credit Investment Corporation of India

05T Hf3e sAaTeHre HRUNLUSA 3iTH 30zar

2) Industrial Credit and Investment Corporation of India

3USTECT hisc TUS Sraicee PRI 3T 5iosar

3) Indian Credit and Industrial Corporation of India

sfUsgeT gsfecaar uus %ide Hrdfikere 3itw sfosar

4) None of the option is correct.

S o oo T 71eT &1

Correct Answer: Industrial Credit and Investment Corporation of India
3USTEcT Hise UUS gratciec HIGReIT 3P SOsaT

Candidate Answer: Industrial Credit and Investment Corporation of India

3USTECA Hhisc TUS Sraiciee HIURLIT 3% Sfosar

QID : 79 - Where is the Garampani Sanctuary located?

TRAYTAT 3FIROY gl & &2
Options:

1) Karbi Anglong, Assam

FTST JTaTCATeT, 3HH

2) Korba, Chhattisgarh

FRET, T HIG

3) Rajgir, Bihar

TR, WER

4) Mysore, Karnataka

M, FeticH

Correct Answer: Karbi Anglong, Assam
FTST TTaTcTeT, 3T

Candidate Answer: Korba, Chhattisgarh
PRET, B aIG

QID : 80 - The UNESCO World Heritage Site "Mahabodhi Vihar" is situated in which Indian state?

Foreant faRd eRIgT T "Heral Y fRgR” fora sl v & [Py &2
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Options:
1)pMadhya Pradesh
FET GS2o
2) Himachal Pradesh
IRGIECR U
3) Bihar
[EN
4) Maharashtra
HERTSS
Correct Answer: Bihar
[ERIES
Candidate Answer: Bihar

[EIN

QID : 81 - The United Nations Organisation has declared the year 2017 as the International year for

HYFA TS Hee of 9§ 2017 JRTERT a¥ & w7 R foma &1
Options:

1) Pulses

celgel

2) Family Farming

aTRaTRe F

3) Sustainable Tourism for development

e & T wies

4) Light-based Technology

YRIeT TR dehoiieh

Correct Answer: Sustainable Tourism for development
Taehra & Ad wdes

Candidate Answer: Pulses

celgel

QID : 82 - Heavy water is

oY STel gl
Options:

1) Rain water

qut STt

2) PH-7

deg-7

3) Tritium Oxide

afeas srass

4) Deuterium Oxide

3R sifarss

Correct Answer: Deuterium Oxide
e sifFarss

Candidate Answer: Deuterium Oxide

i sifFarss

QID : 83 - What is laughing gas?

& A FAT §?
Options:

1) Nitrous Oxide
ATseH ATFarEs

2) Carbon Monoxide
FTaeT AAFASS

3) Sulphur Dioxide

HoW SB3TFATSS
4) Hydrogen Peroxide

Correct Answer: Nitrous Oxide
g Jitrargs

Candidate Answer: Nitrous Oxide
ATSeH HiFass

QID : 84 - The dimension formula of which of the following is the same as that of formula of impulse?

Prafafla & & forae faela 7 3139 & g7 & | §?
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Options:
1)pVqume
3adeT
2) Momentum
a9
3) Torque
ST AT
4) Change in the rate of momentum
HIT & gRadeT & eT
Correct Answer: Momentum

FaT

Candidate Answer: Torque
< T

QID : 85 - When a ring of metal is heated what happens to its hole?

SIS U 4T T TSN AT Teol Y I AT AT § T 36K T T 4T giar 82
Options:

1) Expands

thear ¥

2) Contracts

Agpsarg

3) Expands or contracts according to its diameter

3T ST & AN SheldlT a7 Rgrsar §

4) Expands or contracts according to its coefficient of expansions

3791 elTd & IOk & AR theret a1 s &

Correct Answer: Expands

Herar &

Candidate Answer: Expands or contracts according to its coefficient of expansions
3191 thelTd & [Tk & AR et 21 s &

QID : 86 - Study of fruits is called

el T TETT FHETT &

Options:
1) Spermology
TaaEfarsT

2) Anthology
TTeTSIT

3) Pedology
LIECIc]

4) Pomology
qrATeTSir

Correct Answer: Pomology

AT

Candidate Answer: Anthology
TeTeTsit

QID : 87 - Where is the pituitary gland located?

Options:

1) Brain

AfEaSH

2) Kidney

el

3) Liver

IS Ciry

4) Intestine

Jia

Correct Answer: Brain

AfETSH

Candidate Answer: Brain

AfETSH

QID : 88 - How does the pollination take place in maize?

HererT & TRTET0T A BT 27
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Options:
1)pSeIf-poIIination
FF-IRET0T
2) Pollination by insects
et ganT
3) Pollination by air
arg g
4) Pollination by rain
ST gaRT wRreroT
Correct Answer: Pollination by air
arg @
Candidate Answer: Pollination by air
arg &g

QID : 89 - Who was awarded with the Nobel Prize for Literature in 2016?

wifeeT & fAT 2016 &7 Aol WEHR w8 varer frar arar §?
Options:

1) Bob Dylan

I et

2) Juan Manuel Santos

3T HAeparer Herw

3) Oliver Hart

Nfaa g

4) ] Michael Kosterlitz

ST AR e folesT

Correct Answer: Bob Dylan
CICAELRE)

Candidate Answer: Bob Dylan
qiq fBoreT

QID : 90 - Which of the following sectors contributed more to the savings in India?

HRA 7 fArafaf@d a3t 7 & forass garT 31 Jad &1 S 82
Options:

1) Public Sector

LSICEICCRAE]

2) Household sector

e &

3) Corporate Sector

FraRe &

4) Private sector

s &t

Correct Answer: Household sector
GG GE

Candidate Answer: Public Sector

AT &

QID : 91 - Which Governor General introduced the Permanent Settlement of Revenue in Bengal?

SIS A T el o ffer et Steter garT o R arr?
Options:

1) Lord Clive

CIEETIES)

2) Lord Hastings

s gfedew

3) Lord Wellesley

TS Jerstalr

4) Lord Cornwallis

TS Platartord

Correct Answer: Lord Cornwallis
|TS FleTariord

Candidate Answer: Lord Cornwallis

|S Hlotarferd
QID : 92 - During whose reign Mughal painting reached its highest level?

ferereh QITarsTehrer # FTer 4fEaT 370y RIGR T Tgedr?
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Options:
1)pAkbar
3ThelT
2) Jahangir
SRR
3) Shahjahan
QTESTE!
4) Aurangzeb
Kt c

Correct Answer: Jahangir
SRR
Candidate Answer: Aurangzeb

Kiicocch
QID : 93 - Development of Laterite soil is the result of which of the followings?

wretrse A &1 faera serer & foraenr afkon# giar g7
Options:

1) deposits of alluvial

STeig & e

2) deposits of loess

ded & e

3) leaching

foveTTereT

4) continued vegetation cover

FINAR FAETI T JTAROT

Correct Answer: leaching
oot

Candidate Answer: leaching
foratTereT

QID : 94 - Where do we find the ideals of Indian democracy in the Constitution?

A & 3HaTd AR Ak & 3Gl FT §H FHgl 5@ THhd 8?2
Options:

1) The Preamble

YEATIAT

2) Part III

19T 3

3) Part IV

AT 4

4) Part I

AT 1

Correct Answer: The Preamble
YEATIAT

Candidate Answer: The Preamble
JEATIAT

QID : 95 - Who was the first speaker of Rajya Sabha?

TSI FHT & gl IETET it A?
Options:

1) G.V. Mavalankar

ST, Arge

2) Balram Bhagat

FoIRTH HITT

3) Sumitra Mahajan

e #wgTetat

4) S. Radhakrishnan

T, TETFHSTH

Correct Answer: S. Radhakrishnan
TE. TEHITH

Candidate Answer: G.V. Mavalankar
SiY. &Y. Aot

QID : 96 - Which is the processor that performs arithmetical and logical operations called?

o 3R arfhes 1At &t AsuTfed e arem NATT FAT FHgeldl &7
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Options:
1) CPU
iy
2) ALU
TU

~

3) Microprocessor
HTSHIGAE

4) RAM

kes

Correct Answer: ALU
TUg

Candidate Answer: RAM
ke

QID : 97 - Who won the first medal for India at the Rio Olympics?

T 3l 7 7R & fow ggel g fonde Sirar?
Options:

1) Babita Kumari

Sfsar Ay

2) Narsingh Yadav

TR Fea

3) P.V. Sindhu

.4, Ry

4) Sakshi Malik

anefr Frfors

Correct Answer: Sakshi Malik
aaft Arferen

Candidate Answer: P.V. Sindhu
oy.dr, ﬁg

QID : 98 - Who developed Polio vaccine?

qiferaY dalieT foraet fasnfaa $r?
Options:

1) Marie Curie

a7

2) Jonas Salk

ST Ao

3) Louis Pasteur

GEGRALEN

4) Alexander Fleming
3TlFoIsT helfRaT

Correct Answer: Jonas Salk

SATE AT

Candidate Answer: Jonas Salk

ST AT

QID : 99 - "Playing It My Way" is the autobiography of

"CoiSIT 3¢ ATS 3" HT ATcAFRAT B |
Options:

1) Sauravy Ganguly

Ak e

2) Sachin Tendulkar

afaeT cigert

3) Virendra Sehwag

dReg FgarT

4) M.S. Dhoni

TH.TE. el

Correct Answer: Sachin Tendulkar
afeT cigeret

Candidate Answer: Sachin Tendulkar

b z
QID : 100 - Which is the deep water port being constructed in Pakistan by the China?

qiferEdteT & T T HERIAT & - IEI STel SEIING FeATAT 1T T@T &2
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Options:

1) Gwadar

qreX

2) Karachi

I

3) Chabahar

BICRIRY

4) Saht-al-Arab
AT-3eT-3RS

Correct Answer: Gwadar
Iqrex

Candidate Answer: Saht-al-Arab
AT-3T-3RT
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